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Reasoning Mega Quiz for SSC CGL - Beginner Level

Q1. In the following question, select the related word from the given alternatives.
state : country: : union territory : ?

(a) District

(b) City

(c) Country

(d) Village

Q2. In the following question, select the related letters from the given alternatives.
WATER : XYWAW :: TEST : ?

(a) UBVP

(b) UCWP

(c) ucvQ

(d) UCvP

Q3. In the following question, select the related number from the given alternatives.
15:3374::16:7?

(a) 1024

(b) 4096

(c) 4095

(d) 4063

Q4. In the following question, select the odd word pair from the given alternatives.
(a) vitamin A : Loss of vision
(b) Vitamin B : Beriberi

(c) Vitamin K: Hemorrhage

(d) Vitamin D: paralysis S S c c G L

Q5. In the following question, select the odd letters from the

given alternatives. KA M A H A PAC K

12 Months Subscription

(a) AZBY Live Class, Video Course,
(b) HSGT Test Series, e-Books, Books
(c) MNOP

(d) MNNM English
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Q6. In the following question, select the odd number pair from the given alternatives.
(a) 19 -360
(b) 23-529
(c) 21 - 440
(d) 29- 840

Q7. Arrange the given words in the sequence in which they occur in the dictionary.
1. Pragmatic

2. Protect

3. Pastel

4. Postal

5. Pebble

(a) 43521

(b) 35412

(c) 34512

(d) 43512

Q8. A series is given with one term missing. Select the correct alternative from the given ones that
will complete the series.

Y,W,T,P,?

(@M

(b) L

(K

(d)]

Q9. In the following question, select the missing number from the given series.
7,13,25,43,67,?

(a) 97

(b) 115

(c) 102

(d) 124

Q10. A is brother of C. D is wife of M who is only son of N. C is daughter of D. How N is related to A?
(a) Father

(b) Grandfather

(c) Uncle

(d) Can’t be determined

Q11.Twelve years later, age of Tanu will be equal to the present age of Sakhsam. Sum of Sakhsam's
age 5 years later and Tanu's age 7 years later is 84. If age of Raam is 60% of the present age of
Tanu, then what will be Raam's age (in years) after 10 years?

(a) 32

(b) 28

(c) 24

(d) 31
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Q12. In the following question, from the given alternative words, select the word which cannot be
formed using the letters of the given word.

MOLECULES

(a) SOLE

(b) LEMONE

(c) SUE

(d) COME

Q13. In a certain code language, "LIGHT" is written as "MKJLY" and "DAY" is written as "ECB". How
is "RAAM" written in that code language?

(a) SCDQ

(b) SCEQ

(c) SDEQ

(d) SDER

Q14. In the following question, correct the equation by interchanging two signs.
6x12+3+5=26

(a)=and +

(b)xand =

(c) +and x

(d) xand +

Q15.1f5#4% 12=15and 16 % 5 # 4 = 20, then
4% 24#48=?

(a) 2

(b) 3

(05

(d)6

Q16. In the following question, select the number which can be placed at the sign of question mark
(?) from the given alternatives.

TEST SERIES
4 15 |6 Bilingual
317 |9
5|98
SSCCGL TIERI12018
60 | 315 ?
Previous Year Questions
(a) 464
(b) 432 21Full Length Mocks
8))33?13 Validity : 12 Months
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Q17. How many triangles are there in the given figure?

(a) 27
(b) 28
(c) 29
(d) 30

Q18. In each of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:

I. Some boys are hardworking.

IL. No intelligent are boys.

Conclusions:

I. Some hardworking are not intelligent.

IL. All hardworking are intelligent.

III. Some intelligent are not hardworking.

(a) Only conclusion (I) follows.

(b) Only conclusion (I) and (III) follow.

(c) All conclusions follow.

(d) No conclusion follows.

Q19. Three positions of a cube are shown below. What will come opposite to face containing ‘3°?

(b) 5

(c) 4
d)6
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Q20. In the given figure, how many people study only 2 subjects?

electrical — ’A‘ <—mechanical
(N7

Y,

T
civil
(a) 24
(b) 23
(c)12
(d) 40

Q21. Which answer figure will complete the pattern in the question figure?

Q22. From the given answer figure, select the one in which the question figure is hidden/
embeddetg TEST SERIES
>< Bilingual

@ SSC CPO 2019
X PRIME

(b) 35+ TOTAL TESTS

a Validity : 12 Months
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(c)

LK

(d)

X

Q23. A piece of paper is folded and punched as shown below in the question figures. From the
given answer figures, indicate how it will appear when opened?

.__Q___. ‘+

Q24. If a mirror is placed on the line AB, then which of the answer figures is the right image of the
given figure?

OPE

o'0o
(@)
O o
P o
(b)
O
o<1 0O
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(c) TEST SERIES

e} o Bilingual

5
(d) SSC CGL 2019-20
-k PRIME

400+ TOTAL TESTS

Directions (25-28): Find the odd word/number pair from the
given alternatives. Validity : 12 Months

Q25. (a) 108,081
(b) 444,444
(c) 202,022
(d) 451,541
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